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In z = 4 + i, what is the real part?

c b. 4
(55 ‘ d. 0
In z = 4 + i, what is the imaginary part?

a. 1 b. 4
(4 5 d. 0

(x+3) + i(y —2) = 5+ 2i, find the values of x and y.
a. x=8and y=4 ; b. x=2and y=4

c. x=2and y=0 d. x=8 and y=0
(Sin 30° + cos 60°) — (sin 60° + cos 30°) is equal to:

a. 0 b. 1+2V3

¢ 1-V3 d. 1+v3

The value of tan 60°/cot 30° is equal to:

a. 0 b. 1

c. 2 d. 13

1- cos?Ais equal to:
a. sin?A b. tanZA
c. 1-—sin%A d. sec?A

The value of sin 60° cos 30° + sin 30° cos 60° is:

a. 0 b. 1

cl2 d. 4

If x is a set and the set contains an integer which is neither positive nor negative then
HieiSettns et

a. Setis Empty b. Sel is Non-empty

c. Set is Finite d. Selis both Non-empty and Finite

If x is a set and the set contains the real number between 1 and 2, then the set is............
a. Empty set b. Finite set

¢. Infinite set d. None of the mentioned

Which of the following is a subset of set {1, 2, 3, 4)?
a. (1,2) b. {1,2,3)
(e 441l d. All of the mentioned

How Lo define a sel?

a. A collection of well-defined objects or ~ b. A collection of unordered objects or
element element

¢. Any random elements d. A collection of special characters

How is a set denoted?
QU () b
c ] d. «
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[ Answer question no.1 & any four (4) from the rest |

Find the conjugate, modulus an multiplicative inverse of the following: 3+3+4=10
2—3i
a) The marks obtained by a student of class XI in first and second 5+5=10

terminal examination are 62 and 48 respectively. Find the minimum
marks he should get in the annual examination to have an average of
at least 60 marks.

b) Find all pairs of consecutive odd natural numbers, both of which are
larger than 10, such that their sum is less than 40.

a) Express in a + ib form of the followings: 2+2=
i) i?+it?
iyir>?

b) Find the value of 3+3=6

i) (-0 (- 10)’
i) (-2 -30)°

a) In a survey of 400 students in a school, 100 were listed as taking 5+5=10
apple juice, 150 as taking orange juice and 75 were listed as taking
both apple as well as orange juice. Find how many students were
taking neither apple juice nor orange juice.

b) State and prove the D’ Norgan'’s law.

a) Find the value of sin 15%nd cos 15° 5

sin{x+y) _ tanx+tany 5

sin(x=y) ~ tanx—tan y

b) Prove that

sin (x+y) tan x#tan
a) Prove that= SE o= 4 5
sin (x-y) tan x—tan y 5

b) Show that tan 3x + tan2x -+ tanx = tan 3x — tan 2x — tan x

a)Solve 5x —3 < 3x + 1 5+5=10
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